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SPAR HRA Human Error Worksheet (Page 1 of 3) =+ | Reot cour

Plant; Initiating Event: 1€ ~9¢_Sequence Number:______Basic Event Code: HEP RECE-FihA
- Baslc Event Context:
" *Basac Event Description:

Dmmkmkmhangnxﬁmnmmmdmoshmﬂm YES i} (start with Part L p. 1) NO [ (skip PartLp. 1; start
witPatl.p.2) Why?

.o PART |. DIAGNOSIS
A. Evaluate PSFs for the diagnosis

on of the task. ' '
"PSFs PSF Levels "Maitipller for | If non-nominal PSF levels are selected,
' Diagnosis please note specific reasons in this column
Available Tmae - Tnadoquate time P(mre) =10 | _ .
, Twnt '§ L frn e
' ’B;Taly.deqwadme‘io 10
Nommnltme 50 mim 1
time >60 mm 0.1 ‘ l
¢ time >24 hrs 0.01
. Stress Extreme 3 Oprator hag hod tlarms, rdogacacs
. [High 2 Bere S a problea— “0
| | Nominal . v 11
Compiexity complex E]
eratsly complex 2
__omind . 1
O Obvious osls -1 0.1
. -.'Experience/Training LOW. 10 Aswm®  a kpa&,l-q Aracd
Procedures Not availsbie . 150 . -
Avuiiable, but poor 5 q“u"‘-’.‘ f roudury Tt
_‘E‘M 1 atA LA &ngmoi».\
Dragnostic/symptom 0.5
Ergonomics eading -‘l’g Asunis olarms by
onﬁm'l 1 ‘+zamgzar¥~r( aﬁJlLLULI
Good 0.9
Fitness for Duty Unflt . P(falurc) = 1.0
Degraded Fitness 3
: ominal ' 1
" Wark Processes Poor i Asmet @ (w44 grovdary
: Nommll' ' +
o3 W H inbnat “d ne au" (‘“' (*‘7

SN

LWWD@ :
B. tho‘on_s

(4Y] IfauPSFnﬂngsmnnminlLﬁmmothoﬁsmeProbabi‘.ity- 10E-2

(2) Otherwise, Time Stress  Complexity Bxperlencd Procedures Ergonomics Fitoess Work 5
- . = for Duty Processes 2% lOp
‘Diagnosis: 10B-2x_0\ 2  x_1 x_i. 9 X x_ox .3 ==
Disgnosls
Pailure Probability
B-2

T1/2°d
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SPAR HRA Human Error Worksheet (Page 2 of 3) 2 | 1> Zalload

Plant; tnitiating Event: Sequence Number;_____ Basic Event Code: A<t F- Sb/F

~ -~ Basic Event Context:

“.. ' Basic Event Description:

’ g Partll. ACTION
A. Bvaluate PSFs for the action portion of the task, if any.
PSFs SF Levels Multiplier for | If non-nominal PSF levels are selected, please
Action note specific reasons In this column
Available Time Tnadoquate timo = 1.0
Timeavallible time E‘ Timl CHBMLS
roquired '
Nominal time 1 l I
c e>50 x 01 -
. time required :
Stress Extreme : ;L Crirle an "‘Q{r\ilxo(
| Nontinal 1
Complexity E@ﬂy C lex ; Muthol Sk, aot
. EEE‘ E complex - . ot
Experience/Training Low 3
. ‘Nominal 1
PR ' 0.5
(e e Pt o e
ominal 1
_Erzmc‘ _@“ﬁdﬁs ig 6bwpw«+ '.to_(vout()“f, wefl
Nomimal 1 I‘jlgn(} ﬂnl wetfacd +°
- - [Good 0.5 . oMt
Fitness for Duty Unfit P( =10
@E’ﬁmm s
L Nomumal 1
Wark Processes Poor_ g e pocficed, Ao
Good o3 wiTh, prosdors and 0% anorw

B. Calculste the Action Failure Probability
(1) If all PSF retings are nominal, then the Action Failure Probability = 10E-3
@) Otherwise, Time Stress Complaxity Experionce/ Procedures Ergomomics Flness Work

for Duty Processes
oo 1083 x® x 2 x 2 x5 x . xS <l o« S =10
Action
Fallure Probability
(L
B-3
1isv°d SSSESSSSSSSSSs WH2e:88 66, 68 03Q




Plant:

-~ Sasle Event Context:

-~ Basic Event Description:

Initiating Event:

SPAR HRA Human Error Worksheet (Page 2 of 3)

Sequence Number:

-t Z ,Sué."\“’“'?
Basle Event Code; HEP-Fulsh T"

A. Evaluate PSFs for the action portion of the

Part ll. ACTION

task, if any.

PSFs PSF Levels Multiplier for | If non-nominal PSF levels are selected, please
Action note spectic reasons In this column
Available Time Inadequate time P(tailare) = 1.0
~Time evalable time | 10
Nominal trme 1
Time available>50 x 0.01 -
time required
] BExtreme 5
"High 2
: Nominal 1
Complexi Highly complex 5 . R
exity et o2 Reqguies watbigle cheps
Nominal 1 )
- - 3
Bxpenmcei fiimm g LOW. 1 1 NO .-\—((Mav\af
( S“ High 0.5
_jProcedures Not available 50
Available, butpoor 5. No prosducs
Nominal |
Ergonomics “Missing/Misieading | 50 i l
Poor 10 .
Nominal 1
. : 0.5 :
Fitness for Duty Unfit P(failure) = 1.0
Fitness 5
ommal 1
‘Work Processes Poor [
: Nominal 1
Good 0.5

B. Calculate the Action Failure Probability

(1) If all PSP ratings are nominal, then the Action Fadure Probability = 10E-3

(2) Otherwise, Time Stress Complexity Experience/ Procedures
. Traint

Actlon: 10E-3

x'O’xle

Tts8°d

Ergonomics Fitness Work
for Duty Processes

X } ,50 X, f x | x l "..'.’.5-
Action
Pailure Probsbility
B-3

SSESSSSESESSESS WHUEE:BR 66, 6@ J3d



X7 2ad
SPAR HRA Human Error Worksheet (Page 1 of 3) bt %5 hoers
Plant: initiating Event: Sequence Number: Basic Event Code:' BEP-Iwv-0fFrite
- - Basie Event Context:
| 'BBSIC Event Description:

Doesmlamkcontainuigniﬁuntnmmtofdngnoslucﬂvny? YES (O (mnwnhPanI,p 1) NO [J (kip Part] p.1; start
with Part I, p. 2) Why?

PART l. DIAGNOSIS
A. Evalum PSF's for the diagnosis portion of the task.

PSFs PSF Levels Multiplier for [ If non-nominal PSF levels are selected,
Dlagnosis please note specific reasons In this column
Available Ttme Tnadequste thme "Eﬂi-e)= 1.0
Baroly adequstc time © 20 | E cpandiet Fime
min
 [Nommaltme 30mh |1
| Ex fime >60 mm 0.1
Expansive time >24 hrs 0.01
| Stress gi‘:hane ; Rwsn i OF F’Ow“‘-{
Nombnal . N B ongoy
Complexity 1 5
. sty ol P Rcognition 0F naed
- [ Nominal 1 o mout o last opparieilty
o - Obvious diagnosis 0.1
. Expmmc?-lﬁming ;:\;hﬂ 10 Lig vy daiacd _;l—;c‘—‘
—[03 5
~ Not |50
Procedures | Not lvn—ilei'ig; - ; Pfuv daeg e n prosdo
Nominal 1 Guadess o oy T~
- Dligosiagon |V ko prpsrite
Ergonomics leading 50
Poor. 10
Nomimsl 1
"Good 0.5
" Fitness for Duty Unfit ~P(fallurs) = 1.0
{Degraded Fimess 5
Nommal 1
Work Processes Poor - 2
: ominal .11
0.8

Good
"B Calculate the Diagnoais Faifure Probability
(1) If all PSF ratings are nominal, fhen the Diagnosis Failure Probablity = 10E-2

(2) Otherwise, Time Stress Complexity Ecpenencd Procedures Ergomomics Fitness Work
oo for Duty
. Disgnosis: 108200 x_& x.2Z x_.xl xS ox.l. ox!I_x
o : Dmsnosis
: Failure Probability

B-2
11/9°d . SCSSSSSESESeSS WUEE: 8@ 66, 68 030



Plant:

f-vsg,Baslc Event Context:
b . .
‘. “%3aslc Event Description:

SPAR HRA Human Error Worksheet (Page 2 of 3)

129 houry

Initiating Event: Sequence Number:

Baslc Event Code: MEP-INV- 0H site

A. Evaluate PSFs for the action portion of the task, if any.

Partll. ACTION

PSFs PSF Levels Muttiplier for | If non-nominal PSF levels are selected, please
. Action note specific reasons in this column
Available Tme Inadequate time P(faiiurc) = 1,0 : 4
_ . C,J.p;ui suewf 'll'l m<
Ttme available time | 1
required
Nominal time H
3 30 x X =
- time required
Stress . BExtreme Log+ oppurhuaatty Lo, Success,
ng 1 stress g e<t7tne :
Complexity complex S T avolow oflsite pus:m«c'
. %dodamlyoomplex f - .sgccup ~eRAS
Experience/ Tralning 1I$°w i Liug Moy Hratnrd - stafd
. 0.5
7f°°°a“'°‘ !Aqmﬂ‘ﬂv‘ill:,%;poor :0 ' P’OUL@’: I writha PIUmA_} .
Nominal 11 G carly puprachin | Juidince
Ergonomics _imm@ﬁams ig Cgupmat availablr o aok
oeminal 1 plleite sppurt stagrthriod
| _ Good 05 - C logeS ., accrts , et
Fitneas far Duty Unfit P(tallure) = 1.0
‘%@Mﬁm 3
ominal 1
Woark Processes ‘;om' . i Crw and provdus Tt y
"Good 05 bk adl in & g bititiy

B. Calculate the Action Failure Probability
(1) Ifall PSF ratings are nominal, then the Action Failure Probability = 10B-3

() Otherwiss, Time Stress Complexity Experionce/ Procedures Ergonomics
Tralning . -

Oy S 4 S

Action: 10B-3 X

Tts2°d

Fitness Work
x_| xS x x5 =3P
Action
Failure Probability
B-3

SGSSSSESSESass WUvE: BB 66, 6@ J3Q




Plant:

Initlating Event:

SPAR HRA Human Error Worksheet (Page 3 of 3)

Sequence Number:

! :
V- d}@%i[:

+EP-

Baslc Event Code:

«?PART . CALCULATE THE TASK FAILURE PROBABILITY WITHOUT FORMAL DEPENDENCE
(Pwroo)

Caloulate the Task Failure Probability Without Formal Dependence (Pwod) by adding the Diagnosis Failure Probability (from Part ],
p-1) and the Action Failure Probability (from Part II, p. 2).

/'r

Diagnosis Failure Probability:

Action Failure Probability:

Task Paﬁm Without '
FPormal Dependance (Puod)

Modibd_ by (o digrdtay OS

+ S0

HLO-%

-5

-\
L3O

. Diagnosis Faiture Probability:

Inn PSF are nominal, then
10E-2

Action Faflure Probability:  +10E-3

Pong™ 1.1X10B-2

PartIV. DEPENDENCY

For all tasks, except the first task in the sequence, use the table and fomulae below to calculate the Task Fallure Probability With
Formal Dependence (Puy).

Ifﬂmthareumwhyb.ﬂtmmpr;viousmnhnhmndnotbemﬁdaedexphinh«e:

Depesndency Condition Table
Cues

—

Number of Human Action Failures Rule
[] - Not Applicabls, Why?_

™ Crew ~Time Location cy
(same or (close in time (same or- | (additional or
wey different) . | ornotclosein | different) | not additional)
time
Same — Close | Same complete
[ Different - high
Not Close . Same . | No Additional high
<.« [~ Additional - | - moderate
— Different | No Additional | moderate
Additional
Different Close moderate -
Not Closs low S
(v

ﬁﬂm error is the 3rd error in the sequence, then
the dependency is at least moderate.

If this error is the 4th error in the sequence, then
the dependency is at least high.

This rule may be ignored only if there is
eompenmg svidence for less dependence with the
previous tasks. Explain sbove.

Using Pres™ Probabllity of Task Faihure Without Formal Dependence (calculated in Part IT, p. 3):
For Complete Dependence the probability of faflure is 1.
' For High Dependence the probability of failure is (1+ Pued)/2
For Moderate Dependence the probability of faflure is (1+6 X Pue7
Par Low Dependencs the probability of failure is (1+19 X Puc}20
Far Zero Dependence the probability of failure is Puse

\Calcuhte P4 using the appropeiats values:
” @+ 19 1y

118°d

= .05 Tusk Fallure Probnbllny With Forme! Dependence (Pus)

B4

CeCEEEEEacecss WabE 88 66, 63 D30




SPAR HRA Human Error Worksheet (Page 1 of 3) 29 88 R

Plant: Initlating Event: Sequence Number: Basic Event Code; Y€P ~TV- Dllgix
_-~Baslc Event Context:
" .. Baslc Event Description:

Dmthisuskemmanmﬁcmtammmtofdimoﬁncﬁwty? YES [ (lemwthmI.p 1) NO [J (skip Part], p. I; start
mmn.p.z) Why?,

PART I DlAGNOSIS
A. Bvalum PSFs for the diagnosis portion of the task.

PSFs PSF Levels Multiplier for | If non-nominal PSF levels are selected,
Dlagnosls please note speclfic reasons In this column
" Available Time Inadzqum time P(failure) = 1.0 .
[ Barely adequats tims 2T—T——E'x Crpintin e
min -
- [Nommaltme __30mm |1 :
Extra tme >60 min 0.1 .
' ‘Expansive time >24 hrs 0.01
Stress Extrem 5
. ° ' ) — &L%oﬂ h~ of F‘o()((\-»
Nl N on4oinar
&mplacity E{hly complex s
. Moderately complex 3 : Liconnitin oL et
Nominal 1, @ : { . s
o Obvious dlagnosls 0.1 e ovt 4o et ofporntty
, ‘Expuiencﬁn!ning W - 10
. - { Nominal 1 . . Mo “{"au‘lmq
0.5 .
Procedures gc%'\ﬂibxe 50 -
Avaihble. but poor S. No  prodduny
. 1 . .
Dla.gnomduympm:l 0.5 K
Tl?gommiu Mu:gLM_lludmg 50
. | Poor. 10
Nominal 1
p Good 0.5
Fitness for Duty Unfit failure) = 1.0
' ' Degraded Fitness 5
: | Nominal R
Work Processes Poor 2
. ominal 1
L§ Good 0.8 ]
-~ Caloulete the Diagnosis Failure Probability

(1) If all PSF ratings are naminal, then the Diagnoss Fallure Probability = 10E-2
() Otherwise, Time Stress Complexity Bxperience/ Procedures Ergonomics Fitness Wark

for Duty Processes
Dmsnosu.lOB-zx____ x A xB x50 . ox_1 x\ ==..’.7.’.
Diagnosis
Failure Probabllity
B-2;

11/6°d CSSCSSSSSSSSSS WUSE: BB 66, 6B 230




7 SPAR HRA Human Error Worksheet (Page 2 of 3)
+ )

Plant:_ Initiating Event: Sequence Number: Basic Event Code: REf-IN-Octc

Va aslic Event Context:

*.. .Basle Event Description:

Partll. ACTION

A. Evaluate PSFs for the action portion of the task, if any.
PSFs . | PSF Levels Multiptier for | if non-nominal PSF levels are selected, please

Action note specific reasons in this column
[ Avallable Time ' tme P(atiare) = 1.0
~Timo avalablc. tme | 10 ﬂ‘ Ex peasiwc Fimme
required
ommal time 1 i i
X e>S0 x 0.01 -
e time required
. Last opppriemity 61 Suiuan,

I"-C'cnnplmity lex : ety @ -
. : _ %}!mu Taulry oM pu.swvc

- gak specul  smessd

3
el - stiag eqtron
s .
2
1 .
3
)

_ Nowmmal °
' : Nominal Ap A~y
. K] ‘
.. rocedures Not avaflable 50
. Available, but poor 3 ne i barey
ominal 1
Ergonomics Missing/Misieading | 50
[ Poor 10
, Nominal ] 1
I ood . 0.5 i -
Fitness for Duty Unllt P(failure) = 1.0
___Bigndedl-'mes's 5
‘Nominal 1
Work Processes Poor - 5
Nominal 1
Cood 035

B. Calculate the Action Fallure Probability
(1) Ifall PSF ratings are nominal, then the Action Failure Probability = 10B-3
(?) Otherwise, Time Stress Complexity Expmencd Procedures Ergonomics Fitness Work

for Duty Processes . 2
Acion: 1083 %0 x5 x°. 3 R S P B I
Action
Pailure Probability
.
i B3

11787 °d ‘ SSSSSSSSESSSSS WUSE:BB 66 68 330



SPAR HRA Human Error Worksheet (Page 3 of 3) :; - s F

Sequencs Numbor Basic Event Code:

Plant:_________Initiating Event:

- PART . CALCULATE THE TASK FAILURE PROBABI’L[TY WITHOUT FORMAL DEPENDENCE
- {Pwron)

' wmuumerukrummmmwmwrmmm(p,.obymangmnmmmmmmmaommx,
p.1) and the Action Failure Probability (from Part IT, p. 2).

tf-nmsmn&nim,&m
\ ’ ’ ) “'L"'\ oL
Diagnosis Failure Probability: - ("Q)"a" kf?':o;f‘z'-a%d Diagnosis Failure Probability: 10E-2
Actin Failre Probability: 410919 K Action Fuilure Probability;  +10B-3
Task Failure Without ' l
Formal Dependence Poied = .23 o Pweq= 1.1x10E-2
nodilor i low Jupurdeny Rz -

Part[V. DEPENDENCY

For all tasks, except the first task in the sequence, use the table and fumnhebelowtocalcnlautha'hskhﬂm Probability With
Formel Dependence (Pwd)-

If there is s reason whyﬁﬂureonpmmmh should not be considered, explain here:
Depsndency Condition Table .

&, Crow Tome . | Location |  Cues thuofnmxmiuu
(mne or (close in time (ssmeor- | (additional or
. different) | ormotclosein | different) | not additional) ] - Not Applicable. Why?_ _
i time L
Same Close Same complsts | If this exvor is the 3rd error in the sequence, then
Different high the dependency is at least moderats. :

[ Not Close Same . | No Additional high _
' . —Additonal - |~ moderate | If this errar is the 4th error in the sequence, then

) Different. | No Additional | _ moderste the dependency is st least high.
: Additional . Tow |
o =Ee e
‘ compe for less co with the
Not Close ' ' : ' . previous tasks. Explain above,

Using Py = Probability of Task Failure Without Formal Dependence (calculated in Part I, p. 3):
For Coml;lau Dep,endmee the probability ofhﬂ,m is 1.
" For High Dependence the probability of fallure is (1+ Pued/2
For Moderate Depeadence the probabilty of e is (1+6 X Puwd)'7
Por Low Dependence the probebility of faiture is (1419 x Py/e)/20
For Zeso D@m@u the probability of fallure is Pos
L dculnte!’.uunns the sppropriste values:
ST qe(d By - .ZLTuannumbabmtmeFomnlDepmdm(P.o
. iy .

11/11°d CGESESEESESESS WHSE:BR 66 68 030




